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(12)Cn ẁº$ Am{U hm{ZH$maH$ dZñnVr - ’$bmoËnmXZ Am{U ’w$beoVr
1) Cn ẁº$ Am{U hm{ZH$maH$ dZñnVr
2) ’$bmoËnmXZ Am{U ’w$beoVr

1) Cn ẁº$ Am{U hm{ZH$maH$ dZñnVr
1) Zm¶Q´>moOZ pñWa H$aÊ¶mgmR>r Imbrbn¡H$s H$moUVo e¡dmio OmñVrV OmñV Cn¶moJr Amho ?

1) ³bmoamo’$m¶gr 2) {‘³Pmo’$m¶gr 3) èhmoS>mo’$m¶gr 4) {’$`mo’$m`gr
1) Which group of Algae plays a dominant rule in Nitrogen Fixation ?

1) Chlorophyceae 2) Myxophyceae 3) Rhodophyceae 4) Phaeophyceae

2) dZñnVr ’$m°Šg½bmoìh‘Ü ò CnpñWV H$m{S>©̀ mH$ ½bm`H$mogmBS²g AmhoV:
1) H«$mo{Q>Z Am{U H«$moQ>moZmogmBS> 2) {S>Jm°pŠgZ Am{U {S>{OQ>m°pŠgZ
3) hm`mogmBZ Am{U hm`mogm`‘mBZ 4) ñQ´m`ŠZmB©Z Am{U ~«w{gZ

2) Cardiac glycosides present in the plant foxglove are:

1)  crotin and crotonoside 2)  digoxin and digitoxin

3)  hyoscine and hyoscyamine 4)  strychnine and brucine

3) ...... ¶m§nmgyZ {Vgè¶m {nT>rMo (WS>© OZaoeZ) ~m¶moBWoZm°b {‘iVo.
1) ImÚnXmW© AmYm[aV ImÚgmR>o 2) g‘{n©V D$Om© {nHo$
3) bmH$S>mMo Adeof 4) e¡dmb O¡d^ma

3) The third generation Bioethanol is obtained from ______.

1)  food based feed stocks 2) dedicated energy crops

3)  wood residue 4)  algal biomass

4) ÐmjmV AmT>iUmam âboìhmoZm°BS>Mm à‘wI âboìhmoZm°BS> àH$ma hm Amho:
1) E{nOo{ZZ 2) Z[a¨Jo{ZZ 3) ¹o$g}{Q>Z 4) Oo{ZpñQ>Z

4) The Predominant flavanone type of flavonoid found in grapefruit is :

1) Apigenin 2) Naringenin 3) Quercetin 4) Genistin

5) qb~ydJu` ’$im§‘Ü ò AmT>iUmam âboìhmoZm°BS>Mm ‘w»` àH$ma hm Amho:
1) E{nOo{ZZ 2) H°$Q>o{MZ 3) hoñno[a{S>Z 4) Oo{ZñQ>rZ

5) The predominant flavanone type of flavonoid found in the citrus fruits is :

1) Apigenin 2) Catechin 3) Hesperidin 4) Genistein

6)  ............... H°$W{Q©>H$ Agë`mZo, AUw {H$aUmoËgJm©À`m ~Ýg©À`m CnMmam§gmR>r dmnabm OmVmo.
1) {S>{OQ>{bg nß ẁ©[a`m 2) {gÝH$moZm Egnrnr. 3) H$moa’$S> spp. (H$moa’$S>)4) ‘§ÐJmoam Am°{’$Zma‘

6) ............... being a Cathartic, is used for the treatment of atomic radiation burns.

1) Digitalis purpurea 2) Cinchona spp.

3) Aloe spp. (Aloe vera) 4) Mandragora offinarum
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7) Imbrb Owidm :
a) Rhizobium I) PmS>o Am{U PwSw>no `m§Mo ghOrdZ Am{U dmVmdaUmVrb N {ZamH$aU H$aVo.
b) A°PmoQ>mo~°ŠQ>a II) Ho$‘mo-hoQ>amoQ´m°{’$H$ {OdmUy Ádmar, ‘moVr ~mOar, Vm§Xyi `m§À`m ‘wim§‘Ü ò amhVmV.
c) ’«±${H$`m III) ghOrdZ g§~§YmÛmao e|Jm§À`m ‘wim§À`m JmR>r‘Ü ò amhVmV
d) A°Pmopñn[ab‘ IV) Eamo{~H$ Ho$‘mo-hoQ>amoQ´m°{’$H$ Am{U ‘wº$ {Od§V {OdmUy
n¶m©¶r CÎmao …

A ~ H$ S>
1) (iv) (iii) (ii) (i)

2) (i) (ii) (iii) (iv)

3) (iii) (iv) (i) (ii)

4) (iii) (iv) (ii) (i)

7) Match the following :

a) Rhizobium I) Symbiotic association with trees and shrubs and fixes atmospheric N.

b) Azotobacter II) Chemo-heterotrophic bacteria associated to live within roots of

sorghum, pearl millet, rice

c) Frankia III)Live in the root nodules of legumes through symbiotic relationship

d) Azospirillum IV)Aerobic chemo-heterotrophic and free living bacteria

Answer options:

(a) (b) (c) (d)

1) (iv) (iii) (ii) (i)

2) (i) (ii) (iii) (iv)

3) (iii) (iv) (i) (ii)

4) (iii) (iv) (ii) (i)

8) AmXe© {hadirÀ`m IVmÀ`m {nH$m‘Ü ò Imbrbn¡H$s H$moUVr dm§N>Zr` d¡{eï²> ò Agbr nm{hOoV?
a)  ho e|Jm§Mo nrH$ Agmdo Á`mMr Mm§Jbr ZmoS>çwba gd` Amho
b)  ñdV…À`m dmT>rgmR>r nmÊ`mMr JaO H$‘r Agmdr
c)  Ë`mMr Imob ê$Q> àUmbr Agmdr Am{U Ë`mV ‘moR>çm à‘mUmV Zm°Z-V§Vw‘` D$VH$ AgmdoV
d)  Ë`mV CWi ‘yi àUmbr Am{U {d{eï> V§Vw‘` D$VH$ AgmdoV
n¶m©¶r CÎmao …
1) ’$º$ a, b Am{U c 2) a Am{U b ’$º$ 3) b, c Am{U d ’$º$ 4) a, c Am{U d ’$º$

8) Which of the following desirable characteristics of an ideal green manure crop should possess ?

a) It should be legume crop with good nodular habit

b) It should have litle water requirement for its own growth

c) It should have a deep root system and contain large quantities of non-fibrous tissues

d) It should have a shallow root system and certain fibrous tissues

Answer options :

1) a, b and c only 2) a and b only 3) b, c and d only 4) a, c and d only

9) Zm`Q´moOZ pñWarH$aU Am{U Zm`Q´moOZ AmË‘gmV H$aÊ`mgmR>r Amdí`H$ Agboë`m Zm`Q´moOZoO Am{U Zm`QóQ> [aS>ŠQ>oO
E§PmB‘‘Ü ò Imbrbn¡H$s H$moUVo gyú‘ nmofH$ KQ>H$ AgVmV?
1) qPH$ 2) ‘±JZrO 3) ‘m°{bãS>oZ‘ 4) ~moam°Z
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9) Which of the following micronutrient present in nitrogenase and nitrate reductase enzymes

essential for nitrogen fixation and nitrogen assimilation ?

1) Zinc 2) Manganese 3) Molybdenum 4) Boron

10) Imbrbn¡H$s H$moUVo ’$m°ñ’$agMo dmT>Vo emofU gwb^ H$aVo?
1) APQ>mo~°ŠQ>a 2) ~mÏ ỳ {hado e¡dmb 3) ‘m`H$moam`Pm 4) A°pŠQ>Zmo‘m`grQ²g

10) Which one of the following facilitates an increased uptake of phosphorus ?

1) Azotobacter 2) Biue green algae 3) Mycorrhizae 4) Actinomycetes

11) XÎmwam Egnrnr. Imbrbn¡H$s H$moUVo g§̂ mì` ì`mdgm{`H$ AëH$bm°BS> g‘m{dï> Amho?
1) Q´monoZ 2) ‘m°{’©$Z 3) {¹$ZmBZ 4) H°${’$Z

11) Dattura spp. contains which of the following potential commercial alkaloid ?

1) Tropane 2) Morphine 3) Quinine 4) Caffeine

12) bmHy$S> dZñnVr, ^maVr` amoPdwS>Mo dZñn{V Zmd ............ Amho.
1) Pinus roxburghii Sar 2) Morus alba Linn

3) Dalbergia latifolia Roxb 4) Cedrus deodara Loud

12) The botanical name of timber plant, Indian rosewood is .............

1) Pinus roxburghii Sar 2) Morus alba Linn

3) Dalbergia latifolia Roxb 4) Cedrus deodara Loud

13)  gm`boO ~ZdÊ`mgmR>r Imbrbn¡H$s H$moUVo nrH$ gdm©V `mo½` Amho?
1) ‘H$m 2) Mdir 3) ~magr‘ 4) ë ẁgZ©

13) Which of the following is the most suitable crop for silage making ?

1) Maize 2) Cowpea 3) Barsim 4) Lucerne

14) ............ À`m à{H«$ òXaå`mZ Zm`Q´mogmo‘moZmg ~°ŠQ>o[a`mÛmao A‘mo{Z`‘Mo Zm`QóQ>‘Ü ò ê$nm§Va hmoVo.
1) Zm`{Q´{’$Ho$eZ 2) I{ZOrH$aU 3) J{VerbVm 4) pñWarH$aU

14) During the process of ............ ammonium is converted into nitrate by Nitrosomonas bacteria.

1) nitrification 2) mineralisation 3) mobilization 4) immobilization

15) Imbrbn¡H$s H$moUË`m {nH$m§Zm APmopñn[ab‘Mm ’$m`Xm hmoVmo?
1) ~mOar, ‘H$m 2) {‘aMr, Q>mo‘°Q>mo 3) ~Q>mQ>m, H$m§Xm 4) ŵB©‘yJ, gỳ ©’y$b

15) Which of the following crops are benefitted by Azospirillum ?

1) Bajra, Maize 2) Chili, Tomato

3) Potato, Onion 4) Groundnut, Sunflower

16) am`Pmo{~`‘Zo {Z{l²MV Ho$bobm Zm`Q´moOZ `O‘mZ dZñnVrÀ`m Pm`bo‘ dm{hÝ`m§‘YyZ `m ñdê$nmV ñWmZm§VarV Ho$bm
OmVmo.
A) eVmdar ~) ½bwQ>m‘mBZ H$) ½byQ>m{ZZ S>) Wm`{‘Z
darbn¡H$s H$moUVm ’$m°‘© `mo½` Amho/AmhoV?
1) ’$º$ A 2) A Am{U ~ ’$º$ 3) A, ~ Am{U H$ ’$º$ 4) H$ Am{U S> ’$º$



For Private Circulation Only

JQ> ~ d JQ> H$ nyd©narjogmR>r Cn¶wº$ àíZg§J«h : gm‘mÝ¶ {dkmZ  / 54

16) Nitrogen fixed by the Rhizobium is translocated through xylem vessels of the host plant in the

form of

a) Asparagine b) Glutamine c) Glutanin d) Thiamine

Which of the above form is/are correct ?

1) a only 2) a and b only 3) a, b and c only 4) c and d only

17) ............... ho Ja‘ Ho$boë`m nXmWmª‘Ü ò ^mOboë`m Am{U Hw$aHw$arV ñdmXm§er (nutty flavours) g§~§{YV AmhoV.
1) nm`am{PZ 2) A°ñQ>a 3) Q>n}Zog 4) b°ŠQ>moZ

17) ............... are associated with roasted and nutty flavours in heated foods.

1) Pyrazines 2)  Esters 3) Terpenes 4) Lactones

18) ........ Imbrbn¡H$s ÐmjmÀ`m OmVrMm dmna ìhmB©Q> dmB©Z ~ZdÊ`mgmR>r Ho$bm OmVmo.
1) H°$~aZoQ> gm°{d¾Z 2) {nZmoQ> ãb±H$ 3) no{Q>Q> {gah 4) {nZmoQ> Zm°̀ a

18) ........ grape variety from the following is used for making white wine.

1) Cabernet sauvignan 2) Pinot blanc 3) Petite sirah 4) Pinot noir

19) O{‘ZrV {dfmar agm`Zo gmoS>m Á`m‘wio nwT>rb {nH$m§Mr CJdU hmoD$ XoV Zmhr.
a) Ádmar b) gỳ ©’y$b c) D$g d) Vri
darbn¡H$s H$moUVo/`mo½` AmhoV?
1) ’$º$ a 2) a Am{U b ’$º$ 3) a, b Am{U c ’$º$ 4) gd© a, b, c Am{U d

19) leave toxic chemicals in the soil which donot allow germination of subsequent crops.

a) Sorghum b) Sunflower c) Sugar cane d) Sesamum

Which of the above is/are correct ?

1) a only 2) a and b only 3) a,b and c only 4) All a,b,c and d

20) gd© ‘gmë`m§‘Ü ò J§Y Am{U Md EH$Ì hmoVo
1) Om`’$i; dobMr; {Oao Am{U ~S>reon 2) EH$m OmVrMr ~S>reon; {Oao; Ambo Am{U Xmb{MZr
3) Om`’$i; bd§J; Xmb{MZr Am{U {‘anyS> 4) dobMr; bd§J; Ho$ea Am{U Om`’$i

20) All spice combines in itself the odour and flavour of

1) Nutmeg; Cardamom; Cumin and Anise 2) Fennel; Cumin; Ginger and Cinnamon

3) Nutmeg; Clove; Cinnamon and Pepper 4) Cardamom; Clove; Saffron and Nutmeg

21) Imbrbn¡H$s H$moUVo gmnim H$mngmVrb ho{bH$ìhanm‘wio hmoUmao ZwH$gmZ H$‘r H$aÊ`mg ‘XV H$aVo?
1) ‘H$m 2) Ádmar 3) gỳ ©’y$b 4) P|Sy>

21) Which of the following trap crop helps in reducing damage by Helicoverpa in cotton ?

1) Maize 2) Sorghum 3) Sunflower 4) Marigold

22) Imbrbn¡H$s H$moUVr H$sS> H$mob {nH$m§da h„m H$aVo?
1) ‘obr~J 2) E°{’$S> 3) nm§T>ar ‘mer 4) ~waer

22) Which of the following pests attacks cole crops ?

1) Mealybug 2) Aphid 3) Whitefly 4) Fungus gnat
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23) H$sQ>H$ Aù`m. H$mhr ’w$bnmIao Am{U nV§Jm§Mo {Z §̀ÌU gyú‘OrdmÀ`m ‘XVrZo CÎm‘ àH$mao Ho$bo OmVo Ogo H$s ...... .
1) Ectocarpus secundes 2) Marchantia simlana

3)Bacillus thuringiensis 4) Cladonia rangiferina

23) The insect larvae. of certain butterflies and moths are best controlled with the help of a microbe

such as ...... ......

1) Ectocarpus secundes 2) Marchantia simlana

3) Bacillus thuringiensis 4) Cladonia rangiferina

24) Imbrbn¡H$s EHy$U ñQ>o‘ naOrdr H$moUVm Amho?
1) Hw$ñHw$Q>m 2) pñQ´Jm 3) Amoamo~«m§M 4) bm°a°ÝWg

24) Which of the following is total stem parasite ?

1) Cuscuta 2) Striga 3) Orobranche 4) Loranthus

CÎmao : (12) Cn ẁº$ Am{U hm{ZH$maH$ dZñnVr - ’$bmoËnmXZ Am{U ’w$beoVr

1) Cn ẁº$ Am{U hm{ZH$maH$ dZñnVr
1-2 2-2 3-4 4-2 5-3 6-3 7-3 8-1 9-3 10-3
11-1 12-3 13-1 14-2 15-1 16-2 17-1 18-2 19-2 20-3
21-4 22-2 23-3 24-1


